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Question ID:- 12

Fillin the blank using the correct aption :

The nation's_____ has made two- and even three-car families the narm.
Options:-

spoverty, Option ID :- 45,

= dearth, Option ID :- 46,

« affluence, Option ID :- 47,

= shortage, Option ID :- 48,
Answer Given:- poverty, Option ID : -45
Correct Answer :- affluence Option ID :- 47

Question ID:- 8

Choose the correct option that forms a meaningful complete sentence;

very well (A)/ good pancakes (B}/ but | make quite (C)/ | can't (D)/ cook (E) .
Options:-

«ABCDE, Option ID :- 29,

« DEACB, Option ID :- 30,

« CDEAB, Option ID :- 31,

« DBAEC, Option ID :- 32,
Answer Given:- DEACB, Option ID : -30
Correct Answer :- DEACB Option ID :- 30

Question ID:- 13
What is meant by the idiom Cutthe mustard?

Options:-

=« To succeed, Option ID :- 49,
» To flounder, Option ID :- 50,
» To struggle, Option ID :- 51,

=« None of these, Option ID :- 52,
Answer Given:- To succeed, Option ID : -49
Correct Answer :- To succeed Option ID :- 49

Question ID:- 4

Choose the option that comrectly represents the meaning of the bold and underilined

idiomdphrase in the given sentence:

The car skidded and | avoided the dog by inches.
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Options:-

svery closely, Option ID :- 13,

= using a tool, Option ID :- 14,

=« with absolute ease, Option ID :- 15,

= out of curiosity, Option ID :- 16,
Answer Given:- very closely, Option ID : -13
Correct Answer :- very closely Option ID :- 13

Question ID:- 16

Choose the appropriate one word substitute for the given words/sentence:

a person wha loves or collects books
Options:-

« Bibliophile, Option ID :- 61,
=« Philologist, Option ID :- 62,
=« Misogynist, Option ID :- 63,

= Misologist, Option ID :- 64,
Answer Given:- Bibliophile, Option ID : -61
Correct Answer :- Bibliophile Option ID :- 61

Question ID:- 17

Find out the appropriate option to-eorrect the given sentence:

The demaolition work will continue for the next six weeks.

Options:-

sworked will continue, Option ID :- 65,

= work will continued, Option ID :- 66,

» demolitioned worked for continued, Option ID :- 67,

= No correction required, Option ID :- 68,
Answer Given:- No correction required, Option ID : -68
Correct Answer :- No correction required Option ID :- 68

Question ID:- 2
Find cut which part (A/BIC).of the given sentence has a grammatical error: [N case of 'No efrar’,
the answer would be (0). Choose the correct option accordingly. Ignore punctuation ermor (ifany).

Power steering can (A} / dramatically improve (B) / an cars handling. (G) / No Error (O)
Options:-

«A, Option ID :- 5,

« B, Option ID :- 6,

=« C, Option ID :- 7,

« D, Option ID :- 8,
Answer Given:- C, Option ID : -7
Correct Answer :- C Option ID :- 7

Question ID:- 10

From the following given options.choose the correct one to replace (?) which has the same
retation like that in the given words:

vociferous : noisy = intransigent: 7
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«pliant, Option ID :- 37,
= docile, Option ID :- 38,
= sensible, Option ID :- 39,

« stubborn, Option ID :- 40,
Answer Given:- Not Attempted
Correct Answer :- stubborn Option ID :- 40

Question ID:- 21

Read the passage and answer the question based on it:

What needs to be setright is ourapproach to work. It is a common sight in our country of
employees reporting for duty on time and at the same time doing little work. If an
assessment is made of time they spent in gossiping, drinking tea, eating "pan” and
smoking cigaretias, it will be shocking to know that the time devoted to actual work is
negligible. The probiem is the standard which the leadership in administration sets for the
staff. Forgot the ministers because they mix politics and administration. What do top
bureaucrats do? What do the below down officials do? The administration set up remains
week mainly because the employees do not have the right example to follow and they are
maore concerned about being in the good books of the bosses than doing work.

The employees in our country
Options:-

sare quite punctual but not duty conscious, Option ID :- 81,

= are absent from mind., Option ID :- 82,

= are not punctual, but somehow manage to complete their work, Option ID :- 83,

= are not literate, Option ID :- 84,
Answer Given:- are quite punctual but not duty conscious, Option ID : -81
Correct Answer :- are quite punctual but not duty conscious Option ID :- 81

Question ID:- 11
What is the Synonym of the word Emaciated ?

Options:-

«Portly, Option ID :- 41,

= Pinched, Option ID :- 42,
=« Plump, Option ID :- 43,

=« overweight, Option ID :- 44,
Answer Given:- Not Attempted
Correct Answer :- Pinched Option ID :- 42

Question ID:- 14
Choose the option that is the antonym of the given word:

Spendthrift
Options:-

«Extravagant, Option ID :- 53,
« Prodigal, Option ID :- 54,

« Stingy, Option ID :- 55,

« Improvident, Option ID :- 56,
Answer Given:- Extravagant, Option ID : -53
Correct Answer :- Stingy Option ID :- 55

Question ID:- 7

Choose the appropriate one word substitute for the given words/sentence:
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A person who has too much of self admiration.

Options:-

= Impoverished, Option ID :- 25,
= Available, Option ID :- 26,

« Hypochondria, Option ID :- 27,

« Narcissist, Option ID :- 28,
Answer Given:- Narcissist, Option ID : -28
Correct Answer :- Narcissist Option ID :- 28

Question ID:- 6

Choose the appropriate one word substitute for the given words/sentence:

Fear of clowns

Options:-

sacrophobia, Option ID :- 21,

=« Thanatophobia, Option ID :- 22,
=« Aquaphobia, Option ID :- 23,

= Coulrophobia, Option ID :- 24,
Answer Given:- Aquaphobia, Option ID : -23
Correct Answer :- Coulrophobia Option ID :- 24

Question ID:- 5

Choose the aption from the Toliowing that is a SYNONYM (similar in meaning) of the given word:

Approbation

Options:-

«Criticism, Option ID :- 17,

=« Pejorative, Option ID :- 18,
= Sanction, Option ID :- 19,

= Refusal, Option ID :- 20,
Answer Given:- Sanction, Option ID : -19
Correct Answer :- Sanction Option ID :- 19

Question ID:- 20

Read the passage and answer the question based on it:

Until the end of his first year at school, Cyril retained many of the pleasures and pursuits
he had brought with him from home, and he kept an old interest in butterflies and fossils.
His grandmother had presented him with a fine bird's eggs cabinet, but he could never
bring himself to risk in climbing trees. Once or twice he dissected dead birds from sheer
determination to overcome his horror of the operation. Probabiy it was his envy of those
physically uniike himself that brought on a phase during which he drew massive athietes
with thick necks and square shoulders. Again he was pitying himself for what he could
never be,

The reason Why Cyril made drawings of athletes was that :

Options:-

«though he admired them, he lacked a fine physique himself., Option ID :- 77,
» he had to complete an assignment., Option ID :- 78,

= in a memory, Option ID :- 79,

Dow AIBSLRYEF VRIS RSESiAR T RRHRDFR - 80




Dow

Answer Given:- though he admired them, he lacked a fine physique himself., Option
ID : -77

Correct Answer :- though he admired them, he lacked a fine physique himself.
Option ID :- 77

Question ID:- 3
Fill in the blanks using the comrect option from the following to meaningiully complete the given
sentence:

The cost should be shared equally _ thethree  you.
Options:-

samong, of, Option ID :- 9,

= unless, in, Option ID :- 10,

= to, into, Option ID :- 11,

= as, during, Option ID :- 12,
Answer Given:- among, of, Option ID : -9
Correct Answer :- among, of Option ID :- 9

Question ID:- 18

In the given gquestion, a sentence has been split into four parts. There are four parts
marked P, Q, Rand § which have been jumbled up. Rearrange these parts to make a
grammatically correct and meaningful sentence without changing the first part.

Driving

B. dangeris

Q. tothepublic

R. anindictable offence.
S. ‘@ motorcar furiously

Options:-

«PSRQ, Option ID :- 69,
» QPSR, Option ID :- 70,
= RQSP, Option ID :- 71,

= SQPR, Option ID :- 72,
Answer Given:- QPSR, Option ID : -70
Correct Answer :- SQPR Option ID :- 72

Question ID:- 15

Choose the appropriate active/passive form of the given passive/active sentence:

The book Baking Delights was published by Penguin Random House.,

Options:-
« The book Baking Delights had published Penguin Random House., Option ID :- 57,
= Penguin Random House publishes the book Baking Delights., Option ID :- 58,

= The book Baking Delights published was by Penguin Random House., Option ID :-
59,

=« Penguin Random House published the book Baking Delights., Option ID :- 60,
Answer Given:- Penguin Random House published the book Baking Delights., Option
ID : -60

Correct Answer :- Penguin Random House published the book Baking Delights.
Option ID :- 60

Question ID:- 19
Read the given passage carefully and answer the question from the following
given options:
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happens often In nature—for example, when a cell replicates itself asexually without any genetic
alteration of recombination. The cloning of animals has been used in a number of different
applications. A number of other animals were cloned by Sematic Cell Nuclear Transfer (SCNT),
including pigs, goats, rats, mice, dogs, horses, and mules. Animals have been cloned to have
gene mutations that help scientists study diseases that develop in the animals. Cloning might
one day bring back extinct species like the woolly mammoth or giant panda

Accarding to the given passage which of the fellowing animal(s) was/were cloned using SCNT?
Options:-

«Pigs, Option ID :- 73,

= Goats, Option ID :- 74,

= Mice, Option ID :- 75,

= All of these, Option ID :- 76,
Answer Given:- All of these, Option ID : -76
Correct Answer :- All of these Option ID :- 76

Question ID:- 9

From the following given options ehoose the correctly spelt word ;
Options:-

sAcheve, Option ID :- 33,

= Homogeneous, Option ID :- 34,

« Encuoregment, Option ID :- 35,

» Psychriatist, Option ID :- 36,
Answer Given:- Homogeneous, Option ID : -34
Correct Answer :- Homogeneous Option ID :- 34

Subject : ISTENO_GK_JKSSB_NOV22

Question ID:- 33

Which of the following is a popular folk musicof Jammu and Kashmir ?
Options:-

«Chakri, Option ID :- 129,

=« Bihugeet, Option ID :- 130,

= Pandavani, Option ID :- 131,

= Bhavgeet, Option ID :- 132,
Answer Given:- Bhavgeet, Option ID : -132
Correct Answer :- Chakri Option ID :- 129

Question ID:- 34

Which pact was an agreement to reserve electoral seats for depressed classes?
Options:-

«sBombay Pact, Option ID :- 133,

=« Lucknow Pact, Option ID :- 134,

= Poona Pact, Option ID :- 135,

= None of these, Option ID :- 136,
Answer Given:- Bombay Pact, Option ID : -133
Correct Answer :- Poona Pact Option ID :- 135

Question ID:- 41
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Options:-

sArticle 370, Option ID :- 161,
= Article 180, Option ID :- 162,
» Article 120, Option ID :- 163,

= Article 40, Option ID :- 164,
Answer Given:- Article 370, Option ID : -161
Correct Answer :- Article 370 Option ID :- 161

Question ID:- 31

Out of the following given options, black soil is found in which Indian state(s)?

Options:-

=Maharashtra, Option ID :- 121,

» Madhya Pradesh , Option ID :- 122,

=« Both Maharashtra and Madhya Pradesh , Option ID :- 123,

= None of these , Option ID :- 124,
Answer Given:- Both Maharashtra and Madhya Pradesh , Option ID : -123
Correct Answer :- Both Maharashtra and Madhya Pradesh Option ID :- 123

Question ID:- 38

Two Union Territories — Union Territory of Jammu and Kashmir and Union Territory
of Ladakh came Into existence on which date?

Options:-

= 31st October 2019., Option ID :- 149,
« 13th October 2019., Option ID :- 150,
= 25th October 2019., Option ID :- 151,

» 21st October 2019., Option ID :- 152,
Answer Given:- 31st October 2019., Option ID : -149
Correct Answer :- 31st October 2019. Option ID :- 149

Question ID:- 40

Bakshi Stadium for football matches is located in which of the following?
Options:-

sSrinagar, Option ID :- 157,

« Punjab, Option ID :- 158,

« Bihar, Option ID :- 159,

=« Assam, Option ID :- 160,
Answer Given:- Srinagar, Option ID : -157
Correct Answer :- Srinagar Option ID :- 157

Question ID:- 37

Asia largest tulip garden in

Options:-

s Tezpur, Option ID :- 145,
= Silchar, Option ID :- 146,
= Pichola, Option ID :- 147,
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Answer Given:- Srinagar, Option ID : -148
Correct Answer :- Srinagar Option ID :- 148

Question ID:- 25
The United Mations celebrates the International Day of the Tropics every year on
which of the following day?

Options:-

»21st August, Option ID :- 97,
=« 17th July, Option ID :- 98,

« 11th May, Option ID :- 99,

=« 29th June, Option ID :- 100,
Answer Given:- 17th July, Option ID : -98
Correct Answer :- 29th June Option ID :- 100

Question ID:- 36
Which among the following India's 1983 World Cup hero died in 2021 after
suffering a massive cardiac arrest?

Options:-

«Milkha Singh, Option ID :- 141,

= Avi Barot, Option ID :- 142,

= Yashpal Sharma, Option ID :- 143,

= None of these, Option ID :- 144,
Answer Given:- Milkha Singh, Option ID : -141
Correct Answer :- Yashpal Sharma Option ID :- 143

Question ID:- 29

Who among the following had won the Arjuna award (athletics) in 20217
Options:-

«Kavita Ramdas Raut, Option ID :- 113,

=« Arpinder Singh, Option ID :- 114,

« Lalit Babar, Option ID :- 115,

= None of these, Option ID :- 116,
Answer Given:- Not Attempted
Correct Answer :- Arpinder Singh Option ID :- 114

Question ID:- 28

Who among the following is the present Union Minister of Defence?
Options:-

=Raj Nath Singh, Option ID :- 109,

« Amit Shah, Option ID :- 110,

= Narendra Singh Tomar, Option ID :- 111,

= Ashwini Vaishnaw, Option ID :- 112,
Answer Given:- Raj Nath Singh, Option ID : -109
Correct Answer :- Raj Nath Singh Option ID :- 109

Question ID:- 27

The Union executive consists of
Options:-
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s The Vice-President , Option ID :- 105,
= The Prime Minister , Option ID :- 106,
= The President, Option ID :- 107,

= All of these, Option ID :- 108,
Answer Given:- All of these, Option ID : -108
Correct Answer :- All of these Option ID :- 108

Question ID:- 24

Tourist Destinations of Jammu & Kashmir are:
Options:-

sSansar, Option ID :- 93,

« Zanskar, Option ID :- 94,

= Nubra valley, Option ID :- 95,

= All of these, Option ID :- 96,
Answer Given:- Sansar, Option ID : -93
Correct Answer :- All of these Option ID :- 96

Question ID:- 30

Jammu is situated an a hillock, on the bank of river
Options:-

«Bhima, Option ID :- 117,

« Periyar, Option ID :- 118,

» Krishna, Option ID :- 119,

« Tawi, Option ID :- 120,
Answer Given:- Tawi, Option ID : -120
Correct Answer :- Tawi Option ID :- 120

Question ID:- 39
What is the UT Bird of lammu and Kashmir?

Options:-

s Kaleej Pheasant, Option ID :- 153,
« Tiger, Option ID :- 154,

« Lion, Option ID :- 155,

=« Peacock, Option ID :- 156,
Answer Given:- Kaleej Pheasant, Option ID : -153
Correct Answer :- Kaleej Pheasant Option ID :- 153

Question ID:- 35

is a wetland situated near Srinagar.
Options:-
=«Kalar Kahar, Option ID :- 137,
=« Hokersar, Option ID :- 138,
=« Rawal lake, Option ID :- 139,

« All of these, Option ID :- 140,
Answer Given:- Hokersar, Option ID : -138
Correct Answer :- Hokersar Option ID :- 138
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Question ID:- 23

Which of the following British Viceroy and Governor-General ordered the partition of
Bengal in 19057

Options:-

sLord Curzon, Option ID :- 89,

= Lord Dalhousie, Option ID :- 90,
= Lord Canning, Option ID :- 91,

= Lord Wellesley, Option ID :- 92,
Answer Given:- Lord Curzon, Option ID : -89
Correct Answer :- Lord Curzon Option ID :- 89

Question ID:- 26
Which of the following are Important lakes In India ?

Options:-

«Kolleru , Option ID :- 101,

= Pulicat, Option ID :- 102,

= Deepor Beel, Option ID :- 103,

= All of these, Option ID :- 104,
Answer Given:- All of these, Option ID : -104
Correct Answer :- All of these Option ID :- 104

Question ID:- 42

Who is the Current Governor of Jammu and Kashmir?
Options:-

=Manoj Sinha, Option ID :- 165,

« Jagadish Mukhi, Option ID :- 166,
« Kalraj Mishra , Option ID :- 167,

« Biswabhusan Harichandan, Option ID :- 168,
Answer Given:- Manoj Sinha, Option ID : -165
Correct Answer :- Manoj Sinha Option ID :- 165

Question ID:- 32

Which of the following scheme has been launched by the Odisha government In
September 2022 to aid groundwater resources?

Options:-

: KAPDA scheme, Option ID :- 125,
= JOUTA scheme, Option ID :- 126,
=« PAIDAL scheme, Option ID :- 127,

» CHHATA scheme, Option ID :- 128,
Answer Given:- Not Attempted
Correct Answer :- CHHATA scheme Option ID :- 128

Subject : JISTENO_LR_JKSSB_NOV22

Question ID:- 51

A student went to take tuition from a Maths tutor, He went 90 m to the east from
his hame and then turned right. He then went 20 m and again turned right and went
to a friend's house which is 30 m from that point. From his friend's house, he went
100 m towards north to reach his tutor's home. How far is his tutor's home from his
home?
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Options:-

«140 m, Option ID :- 201,
= 100 m, Option ID :- 202,
= 91 m, Option ID :- 203,

= None of these, Option ID :- 204,
Answer Given:- 100 m, Option ID : -202
Correct Answer :- 100 m Option ID :- 202

Question ID:- 45

In a row of persons, the position of Neelu from the left side of the row is 27
and there are & persons after her in the row. Find the total number of persons in
the row?

Options:-

«32, Option ID :- 177,
« 23, Option ID :- 178,
« 12, Option ID :- 179,

= 27, Option ID :- 180,
Answer Given:- 32, Option ID: -177
Correct Answer :- 32 Option ID :- 177

Question ID:- 47

From the given alternatives select the word which cannot be formed using the
letters of the given word:
SEGREGATION

Options:-

«RESEATING, Option ID :- 185,
« GREETING, Option ID :- 186,
« NATION, Option ID :- 187,

= EARINGS, Option ID :- 188,
Answer Given:- NATION, Option ID : -187
Correct Answer :- NATION Option ID :- 187

Question ID:- 53

Fram the foliowing given alternatives choose what course of action will be taken at
the below given statement:

18 coaches of a express train have got derailed and have biocked the railway track
from both ends.

Courses of action:

|. The railway authorities should immediately send men and eguipment and clear
the spot.

11, All the trains running in both directions should be diverted immediately via
other routes.

Options:-

=:Only I follows , Option ID :- 209,

= Only II follows , Option ID :- 210,

= Both I and II follow , Option ID :- 211,

= None follows , Option ID :- 212,

Answer Given:- Both I and II follow , Option ID : -211
Correct Answer :- Both I and II follow Option ID :- 211
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Question ID:- 50
Arrange the following words as per order In the dictionary.
1. INVENTORY

2. INVOLUNTARY
3. INVISIBLE

4, INVARIABLE

5. INVESTIGATE
Options:-

.4,1,5,3,2, Option ID :- 197,
« 4,3,2,1,5, Option ID :- 198,
« 4,2,3,1,5, Option ID :- 199,

« 4,5,2,3,1, Option ID :- 200,
Answer Given:- 4,1,5,3,2, Option ID : -197
Correct Answer :- 4,1,5,3,2 Option ID :- 197

Question ID:- 44

f 'BAKE' is coded as '10104' Then what Is the code of 'RAIN' ?
Options:-

«170813, Option ID :- 173,

» 170934, Option ID :- 174,

» 170324, Option ID :- 175,

=« 170456, Option ID :- 176,
Answer Given:- 170456, Option ID : -176
Correct Answer :- 170813 Option ID :- 173

Question ID:- 52

If Pdenotes ‘+, @G denotes ', R'denotes *’ and s denotes +, thenwhichof the
following statement is correct 7 Using BODMAS
1.&} 1I6R1Z2P4357 Q9% =100

(B) 32583R9=160Q12R 10

(C) BRB8PB58QB=57

(D) 3BRASEQ7P4=110
Options:-

=A, Option ID :- 205,
=« B, Option ID :- 206,
« C, Option ID :- 207,

=« D, Option ID :- 208,
Answer Given:- C, Option ID : -207
Correct Answer :- C Option ID :- 207

Question ID:- 48

From the given options, What should come In place of question mark (7) in the
following series 7

LMD, MKG, NIJ,'?'
Options:-
«OGM, Option ID :- 189,

« PTR, Option ID :- 190,
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= RGN, Option ID :- 191,

= LGM, Option ID :- 192,
Answer Given:- OGM, Option ID : -189
Correct Answer :- OGM Option ID :- 189

Question ID:- 49

There are certain pairs of words are given in options, out of which the wards in
all pairs except one, bears a ceriain commaon relationship. Choose the pair in
which the words are differently related.

Options:-

«Crocin : Vegetable, Option ID :- 193,
= Engineer : Site, Option ID :- 194,

» Professor : College, Option ID :- 195,

« Lawyer : Court, Option ID :- 196,
Answer Given:- Crocin : Vegetable, Option ID : -193
Correct Answer :- Crocin : Vegetable Option ID :- 193

Question ID:- 43

From the given options, What should come in place of question mark (7) in the
following series 7
130 ;222 2 "7 1 520

Options:-

«350, Option ID :- 169,
=« 289, Option ID :- 170,
= 465, Option ID :- 171,

= 489, Option ID :- 172,
Answer Given:- 350, Option ID : -169
Correct Answer :- 350 Option ID :- 169

Subject : JISTENO_COMP_JKSSB_NOV22

Question ID:- 59

Which of the following symbaols is used when starting 1o type a formula in Excel?
Options:-

«?', Option ID :- 233,

= (), Option ID :- 234,

« +, Option ID :- 235,

= =, Option ID :- 236,
Answer Given:- =, Option ID : -236
Correct Answer :- = Option ID :- 236

Question ID:- 57
What is full form of AES ?

Options:-

«ADVANCED ENCRYPTION SYSTEM, Option ID :- 225,

»« ACCESS ENCRYPTION SYSTEM, Option ID :- 226,

=« APPLICATION ENCRYPTION SYSTEM, Option ID :- 227,

« ADVANCED ENCRYPTION SERVICES, Option ID :- 228,
Answer Given:- ADVANCED ENCRYPTION SYSTEM, Option ID : -225
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Correct Answer :- ADVANCED ENCRYPTION SYSTEM Option ID :- 225

Question ID:- 60

Microsoft word is a word processor software developed by Microsoft in
Options:-

1983, Option ID :- 237,

« 1976, Option ID :- 238,

=« 1990, Option ID :- 239,

=« 1987, Option ID :- 240,
Answer Given:- 1987, Option ID : -240
Correct Answer :- 1983 Option ID :- 237

Question ID:- 63

According to the National Conference on e-Gavernance, e-Governance has played
a key role in embarking the Indian Government's journey to achieve which of the
following goal?

Options:-

«Maximum Government, Minimum Governance, Option ID :- 249,
« Maximum Government, Maximum Governance, Option ID :- 250,
= Minimum Government, Minimum Governance, Option ID :- 251,

« Minimum Government, Maximum Governance, Option ID :- 252,
Answer Given:- Minimum Government, Maximum Governance, Option ID : -252
Correct Answer :- Minimum Government, Maximum Governance Option ID :- 252

Question ID:- 64
Which of the following isfare key principle(s) of e-Krantl, an initiative of the National e-
Governance Plan of Indian government?

Options:-

«Mandating Standards and Protocols, Option ID :- 253,

« Fast Tracking Approvals, Option ID :- 254,

= Security and Electronic Data Preservation, Option ID :- 255,

= All of these, Option ID :- 256,
Answer Given:- All of these, Option ID : -256
Correct Answer :- All of these Option ID :- 256

Question ID:- 61
Which of the following function of MS Excel 2013 converts a number Into a text
representation with the given radix (base)?

Options:-

s ACOTH function, Option ID :- 241,

= BASE function, Option ID :- 242,

= BITXOR function, Option ID :- 243,

»« CSC function, Option ID :- 244,
Answer Given:- BASE function, Option ID : -242
Correct Answer :- BASE function Option ID :- 242

Question ID:- 55
Which of the following is/are type of file system?

Options:-
«Pisk file_ system, Option ID :- 217
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= Flash file system, Option ID :- 218,
» Tape file system, Option ID :- 219,

= All of these, Option ID :- 220,
Answer Given:- All of these, Option ID : -220
Correct Answer :- All of these Option ID :- 220

Question ID:- 56

Computer organization involves which of the following physical component(s)?
Options:-

=:Only circuit design , Option ID :- 221,

« Only signals , Option ID :- 222,

« Both circuit design and signals , Option ID :- 223,

= None of these , Option ID :- 224,
Answer Given:- None of these , Option ID : -224
Correct Answer :- Both circuit design and signals Option ID :- 223

Question ID:- 58

Which of the following is an input device?
Options:-

sScanner, Option ID :- 229,

= CRT Monitor, Option ID :- 230,
= Projector, Option ID :- 231,

= All of these, Option ID :- 232,
Answer Given:- Scanner, Option ID : -229
Correct Answer :- Scanner Option ID :- 229

Question ID:- 62
According to the Indlan Information Technology Act 2000 {amended 2008), the

Section 3A deals with which of the following?

Options:-

=sRetention of electronic records, Option ID :- 245,
= Renewal of licence, Option ID :- 246,

« Electronic signature, Option ID :- 247,

= Delivery of services by service provider, Option ID :- 248,
Answer Given:- Not Attempted
Correct Answer :- Electronic signature Option ID :- 247
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